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E.1 People with hypertension vs control 

Figure 2: Apnoea index 

 
 

Figure 3: Hypopnoea index 

 

 

 

Study or Subgroup

Fletcher 1985

Total (95% CI)

Heterogeneity: Not applicable

Test for overall effect: Z = 18.62 (P < 0.00001)

Mean

10

SD

2.3

Total

46
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3.3

SD

0.7

Total

34
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hypertensives Control Mean Difference Mean Difference

IV, Fixed, 95% CI

-100 -50 0 50 100
Favours hypertensives Favours control

Study or Subgroup

Fletcher 1985

Total (95% CI)

Heterogeneity: Not applicable

Test for overall effect: Z = 8.87 (P < 0.00001)

Mean

8.1

SD

1

Total

46

46

Mean

5.6

SD

1.4

Total

34

34

Weight

100.0%

100.0%

IV, Fixed, 95% CI

2.50 [1.95, 3.05]

2.50 [1.95, 3.05]
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